
Name:

85,6711 =

Date:

Rounding Numbers 510
Where do bunnies go to dance?   A hare ball.

Round these numbers to the nearest 10 000.

© www.teachyourchildrenwell.com.au Score:

15 40,602 = 28 80,788 =

2 886,575 = 16 998,398 = 29 56,895 =

3 287,302 = 17 114,811 = 30 98,850 =

4 469,976 = 18 25,090 = 31 68,818 =

5 952,823 = 19 481,129 = 32 203,856 =

6 255,186 = 20 43,019 = 33 815,026 =

7 692,354 = 21 82,955 = 34 57,889 =

8 26,907 = 22 60,288 = 35 97,109 =

9 16,966 = 23 33,808 = 36 268,807 =

10 552,602 = 24 51,428 = 37 169,263 =

11 44,218 = 25 92,116 = 38 51,981 =

12 95,289 = 26 53,907 = 39 37,660 =

13 73,866 = 27 157,353 = 40 97,227 =

14 662,656 =



Name:

85,6711 = 90,000

Date:

Rounding Numbers 510
Where do bunnies go to dance?   A hare ball.

Round these numbers to the nearest 10 000.

© www.teachyourchildrenwell.com.au Score:

15 40,602 = 40,000 28 80,788 = 80,000

2 886,575 = 890,000 16 998,398 = 1,000,00029 56,895 = 60,000

3 287,302 = 290,000 17 114,811 = 110,000 30 98,850 = 100,000

4 469,976 = 470,000 18 25,090 = 30,000 31 68,818 = 70,000

5 952,823 = 950,000 19 481,129 = 480,000 32 203,856 = 200,000

6 255,186 = 260,000 20 43,019 = 40,000 33 815,026 = 820,000

7 692,354 = 690,000 21 82,955 = 80,000 34 57,889 = 60,000

8 26,907 = 30,000 22 60,288 = 60,000 35 97,109 = 100,000

9 16,966 = 20,000 23 33,808 = 30,000 36 268,807 = 270,000

10 552,602 = 550,000 24 51,428 = 50,000 37 169,263 = 170,000

11 44,218 = 40,000 25 92,116 = 90,000 38 51,981 = 50,000

12 95,289 = 100,000 26 53,907 = 50,000 39 37,660 = 40,000

13 73,866 = 70,000 27 157,353 = 160,000 40 97,227 = 100,000

14 662,656 = 660,000


